+5=341

1 mark
+ 5800 = 6,300

1 mark
750 - = 500

1 mark
600 - = 450

1 mark
8 X = 56

1 mark
3 X = 18

1 mark

+ 2 = 5
1 mark

Chipstead+Valley+Primary+School Page 1 of 5



10

11

12

13

14

222 + = 552
4 X = 28
- 685 = 99
400 - = 275
350 + = 680
- 520 = 340
30,001 - = 20,002

Chipstead+Valley+Primary+School

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1 mark
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15

16

17

18

19

+ 220 = 700

602 - =594

3,050,020 = 3,000,000 + + 20
+ 3,500 = 8,400

87,999 = 48,999

Chipstead+Valley+Primary+School

1 mark

1 mark

1 mark

1 mark

1 mark
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Mark schemes

1

10

11

12

13

14

15

16

17

336

500

250

150

10

330

784

125

330

860

9999

480

50,000

Chipstead+Valley+Primary+School

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]
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18

19

4900

39 000

Chipstead+Valley+Primary+School

[1]

[1]
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